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1. Introduction
ACS need to be defined for 5G NR sub-6.  As BWs are much larger for NR and spectral utilization is different, the definition for ACS is proposed to be different to LTE.  For LTE, the ACS definition effectively changes for BWs greater than 5MHz.  Up to this point the BW of the wanted signal and the jammer are the same.  Above 5MHz BW, the jammer BW remains 5MHz , effectively fixing the adjacent channel offset to 2.5MHz outside the wanted band.  

For 5G NR sub-6 ACS and IBB, the proposal is to keep the wanted BW and the jammer BW the same for all BWs.  
2. LTE ACS IBB

ACS Case 1 LTE jammer and wanted signal definition for 20 MHz BWis outlined in Figure 1 – IBB is included.  The location of the ACS jammers are in non-obvious locations The offset location does not change for case 2
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Figure 1: ACS and IBB offset definition for 20 MHz LTE
3. 5G Sub-6 ACS IBB Proposal.
Proposed ACS Case 1 including IBB Sub-6 jammers and wanted signal definition for 100 Mhz BW in Figure 2.  ACS is allocated in the entire adjacent channel, IBB1 the entire alternate channel (2 channels away) and IBB2 3 channels away from the wanted. The offset location does not change for case 2.
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Figure 2: ACS and IBB offset for 100 MHz sub-6
4. Proposed ACS definition and Limits.

The following ACS tables are proposed.  The ACS jammer and BW change for 10, 15 & 20 MHz compared to LTE.  It is not obvious the LTE ACS definition for the same BW is appropriate for the 5G NR sub-6 – due to different spectral utilization. The table also includes the SCS which the ACS should be tested with – highest spectral efficiency.
Table 1: Adjacent channel selectivity
	
	
	Channel bandwidth

	Rx Parameter
	Units
	5 MHz
	10 MHz
	15 MHz
	20 MHz
	50 MHz
	100 MHz

	ACS 
	dB
	27
	27
	27
	27
	27
	27


Table 2: Test parameters for Adjacent channel selectivity, Case 1

	Rx Parameter
	Units 
	Channel bandwidth

	
	
	5 MHz
	10 MHz
	15 MHz
	20 MHz
	50 MHz
	100 MHz

	Power in Transmission Bandwidth Configuration
	dBm
	REFSENS + 14 dB

	PInterferer
	dBm
	REFSENS +45.5dB
	REFSENS +45.5dB
	REFSENS +45.5dB
	REFSENS +45.5dB
	REFSENS +45.5dB
	REFSENS +45.5dB

	BWInterferer 
	MHz
	5
	10
	15
	20
	50
	100

	FInterferer (offset)
	MHz
	5+0.0025

/

-5-0.0025
	10+0.0075

/

-10-0.0075
	15+0.0125

/

-15-0.0125
	20+0.0125

/

-20-0.0025
	50+0.0025

/

-50-0.0025
	100+0.0025

/

-100-0.0025


Table 3: Test parameters for Adjacent channel selectivity, Case 2

	Rx Parameter
	Units 
	Channel bandwidth

	
	
	5 MHz
	10 MHz
	15 MHz
	20 MHz
	50MHz
	100 MHz

	Power in Transmission Bandwidth Configuration
	dBm
	-56.5
	-56.5
	-56.5
	-56.5
	-56.5
	-56.5

	PInterferer
	dBm
	-25

	BWInterferer 
	MHz
	5
	10
	15
	20
	50
	100

	FInterferer (offset)
	MHz
	5+0.0025

/

-5-0.0025
	10+0.0075

/

-10-0.0075
	15+0.0125

/

-15-0.0125
	20+0.0025

/

-20-0.0025
	50+0.0025

/

-50-0.0025
	100+0.0025

/

-100-0.0025


Proposal 1: Tables 1 – 3 are proposed for ACS
5. Conclusion
Proposal: Approve the ACS definition and limits for 5G NR sub6 in tables 1 through 3.
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